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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option of the following
questions : (any four) 1x4=4

(i) Which of the following is not a silk-
protein ?

O (PO (I6FF eif wRw 2
(a) Sericin

(b) Fibxoin

(c) P-20

(d) P-25

Contd.



t
(i) Silkworms belong to the order ! (v) Which of the following stages of silk-

(TN SfeR IV =R 3 - worm can produce silk?
| | (THAPR (TG TR [®F Teow IR
(a) Hymenoptera ST ?
(b) Lepidoptera (a) 5th instar larva
(c) Coleoptera A% TR (3) .
(d) Hemiptera ‘ () Pupa
@iii) Which of the following is a univoltine |
silk moth ? e
oo @ ¢ PR (FRCSFDIR) @ (c) Cocoon
59 , .
(a) Bombyx mori (d) Moth
(b) Antheraea assamensis .

(c) Philosamia ricini
(vi) The causative organism of pebrine

(d) Antheraea proylei discase is
(iv) The primary food plant of muga silk- oiff @t IR FRG 7=
worm is
(a) Bacillus bombycis

Tl @I T ASTERRY (T’
(a) Dighlati

(b) Nosema sp.

(b) Mejankari (c) Bacillus coli

(c) Som
(d) Castor (Eri)

(d) Beauveria sp.

|
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(vii) The major pest of silkworms is 2. Answer the following questions:

@ AR YU SRR SRRy R (any three) 2x3=6
(a) Housefly R AT el ot 3 (Rigete ol
DI () What is silk route? Mention its
(b) Uzifly 4 importance. 1+1=2
ofer R e 35 (o 29) B e T eI T
(c) Lizard |
(ool

(i) Mention the differences between

(d) Rat Mulberry silkworm and Non-Mulbery
' A silkworm. .

(vii) Which silk of Assam has got TR () oA R S-S
Geographical Indication (GI) Tag? (IS Er© A ﬁWW I
;‘;W @sﬂfm (BT (ST 7 (GI) O (iii) Distinguish between male and female

. moth of muga silkworm.
(@) Eri gmmwmmﬁﬁmmw
. st R e
Pat .
(b) 9;% (iv) What is stifling? How is it done?
' 1+1=2
() Muga
- Roh & e W @EME T 7/
(d) Tasar (v) Name any four major predators of
5% silkworms.
(VAE T T 2R BIIRIRY ST A et
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(vij Mention any two by-products of non-
mulberry sericulture with their uses. 1+1=2

G- AEARS @EACTrS Geo @A R 1o
Toimie TN AN SIS FReT IR TEY |

3. Answer the following questions : {any two) 5x2=10
ool PP Ol fordl 8 (et 7Y)
(i) What is seed cocoon? How are these
preserved ? 1+4=5
Frw o1efd (seed cocoon) & e YRR
(VI TTHY W [ ?
(i) Write a note on the origin of silk.

@5 TeofeR A ¢t Gt o
(iii) Write about the nature and
composition of silk.
@R o4FfS R 16T RIE o
(iv) Describe briefly the process of
spinning and reeling of silk.
@R il o RfeR e Rec sate
3l 1|
(vy What measures will you take to
protect silkworms from their pests and
predators ?
DI PiFer IHTER We AeRIERT
o1 3w e B & aem wvare
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(vi) Write a short note on economics of
non-mulbery silks in india.
TETT SRR @ (IV) WS
ey 8siFe ol (GBI i

4. Answer the following questions:

(any three) 10x3=30

oo 2T TeR ot ¢ (Rizsian ot

() What do you mean by sericulture?
Why is it called an agro-based
industry ? Give an account of different

types of silkmoths with examples.
1+3+6=10

o Tt e 6 g ¢ T R giefes
el 31 Rl e T s R R
@I Raw ot e |
(i) What is the scientific name of muga silkworm ?
Describe its life cycle. 1+9=10
il @R e A e R GRA
SEECo! 361 T4
(i) What is the scientific name of eri silkworm ?
Describe its life cycle. 1+9=10
& @R wERe B TR
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(iv) Describe the process of rearing of
muga silkworm.

Tl (AT “FH afes Ry 3 w111

(v) Describe the steps involved in the
process of rearing of eri silkworm.
G @A SFW w3
Eal

(vi) Describe the environmental conditions
which influence rearing of silkworms.
@EIER AFe dOR (ARl AR
SRYTTA 31 34 |

(vii) Name four major diseases of silk-
worms. Write their causes and

symptoms. 2+(2x4)=10
IR bIRGI MR AW R @
QIICIRT FIRA WS IR By

(viii) Write about the prospects and
problems of entrepreneurship in non-
mulberry sericutture in India.6+4=10

CINOY G-NES! ([{W Srmie SN
WWWMMI
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